


(2)

(iit) Cash Flow Statement is a statement
of w.ocqomm and application of cash
during a particular period of time.

(iv) In management accounting, only
those figures are used which can be
measured in monetary terms.

(b) Fill in the blanks : 1x4=4

() P/V ratio exhibits the percentage of
contribution included in —.

(i) Repayment of borrowing causes
cash —.

(i) Accounting information is —— to
make it useful.

(itv) —— budget is a summary of all
functional budget.

2. Write short notes on any four of the
following : 4x4=16
(a) Absorption o.owm:m

(b) Zero-base budgeting

() Change in product mix
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(d)
(e)
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(b)

(@)
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(3)

Overhead
Pricing
Make or buy decision

“Management Accounting is nothing
more than the use of financial
information for management purposes.”
Explain this statement and clearly
distinguish between Financial Account-
ing and Management Accounting. 4+7=11

Or

Explain the role of management
accountant in a business enterprise. 11

The following are the Condensed
Balance Sheet of P Ltd. at the end of
2012 and 2013 :

Capital and Liabilities 2012 2013
4 5
Equity Share Capital 2,50,000  3,50,000
Reserve and Surplus 1,50,000 1,40,000
6% Debenture 50,000 20,000
Sundry Creditors 79,000 83,000
Outstanding Expenses 7,000 15,000
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(4)
Capital and Liabilities 2012 2013
4 ¢
Provision for Depreciation 80,000 1,00,000
Provision for Income Tax 30,000 25,000
Proposed Dividend 37,500 52,500
Provision for Bad Debts 13,000 18,000
6,96,500 8,03,500
Assets 2012 2013
e ¢
Land and Building 1,25,000 1,25,000
Plant and Machinery 2,40,000 3,60,000
Debenture Issue Expenses 10,000 3,000
Preliminary Expenses 15,000 12,000
Stock 1,90,000  1,93,000
Debtors 60,000 90,000
Bills Receivable 26,000 15,000
Cash in Hand and at Bank 30,500 5,500
6,96,500  8,03.500
Additional Information -
() Income tax paid in 2013 was

¥ 35,000
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(b)
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(5)

(i) An old machinery was sold for

(it)

(iv)

¥ 44,000 the cost and written down
value of which were & 60,000 and

¥ 40,000 respectively

Bonus share at 2 for every 3 equity
shares were issued out of
accumulated reserve and surplus

Out of the proposed dividend for
2012, only ¥ 30,000 were paid in
2013, and in addition to that an
interim dividend for ¥ 25,000 was
paid in the same year

Prepare a Fund Flow Statement and
Statement of Change in Working Capital
of the company for the year that ended
on 31st December, 2013.

Or

Discuss briefly the classification of
activities as prescribed in AS-3 for
preparation of Cash Flow Statement
and give three examples of each such
class of activities.

12
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(6) (7)

a single 6. (a) From the following information relating
to 1987 and conditions expected to
prevail in 1988, prepare a budget for
1988. Assume the rate of depreciation
as 10% : 11

5. (@) () A company produces
product which sells for ¥20 per
unit. The variable cost is ¥ 15 per
unit and the fixed overhead for the
year is ¥ 6,30,000.

Actuals
Sales— 1,00,000 (40000 units)

You are required to calculate— 1987

(1) the sales value needed to earn
a profit of 10% on sales;

Raw Materials—¢ 53,000
wages— 11,000

(2) the sales ﬁﬂwno per unit to bring Variable Overheads—% 16,000

the BEP aoib to 120000 units.
3+4=7

Fixed Overheads—% 10,000

1988 Prospects

(i) The ratio of variable cost of sales is Sales— 1,50,000 (60000 units)

given to be 70%. The break-even
point occurs at 60% of capacity
sales. Find the capacity sales when
fixed costs are ¥ 1,50,000 and also

Raw Materials—5% price increase

Wages :
10% increase in wage rates

5% increase in productivity

: - o
determine profit at 80% sales. 2+2=4 i it

One lathe—¥ 25,000
One drill—¢ 12,000

Or

(b) Define marginal costing and discuss its
contributions to the management in _ Or

decision-making. 5+6=11 3 ) Sl
(b) Explain the objects and limitations of

budgetary control. 5+6=11
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(8)

7. (a) The standard material required to

(b)

P15—6000/358

manufacture one unit of product X is
10 kg and the standard price per kg of
material is ¥2-50. The cost accounts
records however reveal that 1 1500 kg of
materials costing & 27,600 were used
for manufacturing 1000 units  of
product X, Calculate material variances. 11

Or

Write a note on the advantages and
application of standard costing. 6+5=11

( Continued )
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(9)
ASSAMESE VERSION

351 1 fargy o

(i) AR ARTETT TATES ey offiads
el

([@ R Moowes T 7w Fds 2he oo
SR - g 39 9T FRT G |

(i) wom o Rfe ¥'a o fiffe e
o7 a1 4 Beot wr Az RS |

1x4=4

(iv) IR Ro1owTs Tq R qame o
R 11 oAz IEA @ |
A 57 o2t 3 - 1x4=4

() P/V Ratio R — WG$E S o]
TR 9 A |

(i) 4 AR T 4o —— R e |

(iii) RveewE wu IR IR
— |

(iv) — SH-IRE Ta SR FAefes
- A |
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(10 )
2. R o viReM vy R o - 4x4=16
(@) cm2= I fefy az
(b) i fofe w3
(c) Teo fipsera oifdada
(d) Tft T
(e) wa ey

() T AR a%me Pram

8. (a) “A@FeE BErRwd I@EeER Soaen @en
U IR M wEe qr 7= 1 Rgfedh
IO T AE [@ Brorwe W gamem
fEBrorerm =8 s fcf v | 4+7=11

- 9T

(b) @B TP efede  IRTF  BorerEee
SRt S 4 | } 11

P15—6000/358 ( Qo:R::wQ )

(11)

4. (@) P -7 2012 W% 2013 4 @S FEHY

Tqa-*ig oo fral 24 ¢

ot SAF (el

FARNG AL
Aoy F A1
6% 4T

fafay “neamma
UG 4q5
STHE I
WA AT
AT ST

AR A A

=offg

i wI ©aw
TG AF I
qoeig fifers am
orfSF

TGS AT
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2012 2013
B b
2,50,000 3,50,000
1,50,000 1,40,000
50,000 20,000
79,000 83,000
7,000 15,000
80,000 1,00,000
wo.oco. 25,000
37,500 52,500
13,000 18,000
6,96,500 8,03,500
2012 2013
5l B
1,25,000 1,25,000
2,40,000 3,60,000
10,000 3,000
15,000 12,000
1,90,000 1,93,000
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(12 ) | (13)

oG 2012 2013 LT
= s 23S | ot
(b) WM 2ATE AFSFA A AS-3 9
R T 00 RIS INFA HYLP AL FAT SF
o1y fen 26,000 15,000 - A ufa fefnie Taeae i |
S &GN UF @S G 30,500 5500
. 65,96,500 8,063,500 5. (@) (i) 90 @RI Teome $91 G Ga AfS
yfefie o9 e%e 20 B e RE @ | AfS o
, Jffadam I 15 5o W IZA0E F
() 2013 s frm SEPI AR Teifdam 6,30,000 53 |
35,000 51 @3 o fefas iy @4 :
(i) °@N TG 44,000 HFre & =1 2few | (1) m”@umwna 10156, RS 3Lt AT
WA FTE 60,000 5 WF GTHES gl
(written down) Y& 40,000 51 2= (2) BEP 120000 cobts wfea Amca

b oy = sfcaTEag A4S corsa R 525 3+4=7
(ii) TE A odl B
(i) ove fResTm RE e WA e
%Eo@m@%d.ﬂd%@@g ﬂoo\o_.mnﬂﬂdimcﬁx.ogﬁawmuﬁ

oy fAfte 1 /@ @@ 1,50,000 Bore &t

(iv) 2012 < o@RE TEE /1 WE MM W“ﬂﬁ MM: 80% R&re ,m__.ﬂ,,m-
30,000 51 2013 I® oM T4 (2 " LE Y 2+2=4
we RSS9 S 25,000 B —
i | 2l g taa (b) @ I Fdeer ke fra e Fame a2
31 fSoa, 2013 S =¥ R IWOR II IJREE FEred oafS 3 RGeS
e orrz R e FREA e R SICEAST 41 | 5+6=11 |
237 2rme 41 | 12 _ :

P15—6000/358 { Continued ) P15—6000/358 ( Turn Over )




( 15)
Teowaq ACd 10 F.am T ,,
6. (@) wor fig 1987 13 wyp wre 1988 tag 7. (a) xﬂmwmagﬁ% 3”% AR ofS o3 T
uﬁia&uaﬁa@@amhommﬂuﬂﬂ 50 531 = W Rprrewd B o@
sﬁﬁa,ﬁamaaﬁ.ﬁuﬁumz 10% 3 : 0 2 X @@H 1000 i
TR (TR
M ¢ L mﬂéﬁﬂu M 27,600 531 WS 11500 ﬂwp
1987 b _ ) I Cxz | T Rpfeam .
R&—1,00,000 591 (40000 CoNB) —
o1 TA—53,000 b e
T§R—11,000 Bey I @[S S
gaﬁﬂl&.ogwﬂ : (b) Mﬂﬂﬁéﬂ% A e 6+5=11
w19 BofRRm—10,000 b1
1988 A%TIfre * * ok
R&#—1,50,000 51 (60000 (o) g
GBI 950, TR
T
10% w93 729 37y
5% Teonfiip of;
ufSfae T -
9B M—25,000 b1
BT RF—12,000 Bt
S/
(b) TSR SRS 397 P TR Sy i
SR 27 411 5+6=1]
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